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paired comparison = repeated measures

each girl serves ac a block, blocks are fandomized. each block has @ elements

{ represerife  the individval (the girl) Vg is the average A (D& (2)
(@) practsigd  No for ! year of growth atadime, Yes for continual geowth,
(6) Make an inferential model  (this example i5 similar fo the deer forelimbo study)

d 15 an est of j.&d

population . girls in North Omerica of ages 5-6 in the 1950s

Build a A5% Confidence Intecval
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Highly, _highly significant”

‘Fun fock. $ne secvlar Hrend in he:’gm refers fo Hae genesctfivanl increase in hfgh} dve to improved notritfion
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DichSSion Se,chion ?

quan+5¥ah‘ue continvovs Yy L samples, independent- Gamfale sireer afe. diftecent!)
Ff‘nis example is similar to the daphniu sh;dy)
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8 ~U% faster

Pmc%"si?}'?. Yes (bu’r % mins s still a fong time)

-1 Completely  randomized design, valid design fo see if one drug is bellor thap another on average
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GO) Build the confidence interval
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100 out of 10,000 vo. 56 ouvt of 10,000
pro\a‘l“s;‘g? Ves worthy investmaent (an hour on a bike cufs risk in half)
dichotonioys, 2 samples, independes

(ﬂw‘s example is ¢imilar 45 the Redwood trees & SoD stvdy)




